




















Height of Center of Vertical Half-Wave in Wavelengths
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Fig 1—Variation in radiation resistance of vertical and
horizontal half-wave antennas at various heights above
flat ground. Solid lines are for perfectly conducting
ground; the broken line is the radiation resistance of
horizontal half-wave antennas at low height over real
ground.
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Figure 1—The classic open-wire feed line dipole antenna is easy to install and offers
surprising performance on several bands. You can install it in almost any configuration;
it doesn’t have to be strung in the traditional horizontal “flat top” shown here.
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Steve

Two Band, Single Feed Dipole

Make a 40 meter dipole and feed with
twin lead or balun and coax

Make a 20 meter dipole and attach at
same feed as 40 meter dipole

40 meter operation has very high
Impedance for 20 meter dipole so all
energy to 40 meter dipole

20 meter operation has very high
Impedance for 40 meter dipole so all
energy to 20 meter dipole

nch, AIGW June 2006
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Making and Adjusting

A Simple Dipole with SWR Meter

6.

Measure dipole SWR at design frequency.
SWR will be high. Dipole resonance is
ower In frequency (dipole too long).

_ower dipole and cut off 3” from each leqg.
Raise and repeat SWR measurement.

Repeat 7. until dipole has an SWR of 1.5:1
or less. As the SWR approaches 1:1, cut
off less from each leg per adjustment.

When the dipole is adjusted, without
affecting length, twist the wire passing
through the end insulator around leg and
solder.

10. Re-elevate antenna and enjoy!

Steve Finch, AIGW June 2006
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Making and Adjusting A Simple
Dipole with Antenna Analyzer

6. Attach analyzer to feedline and tune for
resonance (where reactance Is zero).

/. Multiple leg length by two and by frequency
on analyzer. (should be 425-490)

8. Divide the this number by your design
frequency. This is the total antenna length.
Divide by 2 for each leg length.

9. Lower antenna and cut leg to calculated
ength. Re-elevate and confirm.

10. If SWR is less than 1.5:1, solder leg ends
around insulator, re-elevate and enjoy!

Steve Finch, AIGW June 2006

40












